RESOLUTION No. 22-72

A RESOLUTION OF THE MAYOR AND THE CITY COUNCIL OF THE CITY OF DORAL, FLORIDA, AUTHORIZING THE CITY MANAGER TO AWARD INVITATION TO BID ITB #2022-05 "DORAL BOULEVARD MEDIAN LANDSCAPING IMPROVEMENTS PHASE II" TO SUPERIOR LANDSCAPING AND LAWN SERVICE. INC. IN AN AMOUNT NOT TO EXCEED OF \$2,075,404.68 (WHICH INCLUDES A 10% CONTINGENCY FOR ANY UNFORESEEN AUTHORIZING CONDITIONS): AND THE TRANSFER OF ACCOUNT No. 001.80005.500633 \$580,404.68 FROM TO ACCOUNT No. 001.80005.500631 TO PROVIDE SUFFICIENT FUNDING FOR THIS EFFORT: PROVIDING FOR IMPLEMENTATION: AND PROVIDING FOR AN EFFECTIVE DATE

WHEREAS, on March 14, 2007, the City Council adopted the Doral Boulevard Street Beautification Master Plan which serves as a vision and guidance on how the physical environment along Doral Boulevard should be built; and

WHEREAS, in 2014, Calvin, Giordano & Associates, Inc. (CGA) was tasked with revisiting the Master Plan and making a presentation to the City Council that reviewed the elements that had been implemented to date and making recommendations on how the remaining elements should move forward; and

WHEREAS, the presentation recommended moving forward with the landscaping, irrigation, and lighting improvements to the Doral Boulevard median and entry features at the Doral Boulevard gateways to the City that were conceptualized in the Master Plan; and

WHEREAS, as the City Council has laid out a strategic priority for beautifying the entrances, parks, medians, roadways, and lakes within the City, the Public Works Department (PWD) has been moving forward with plans to implement these improvements along the Doral Boulevard corridor; and WHEREAS, in December 2017, Invitation to Bid (ITB) No. 2017-34 "Doral Boulevard Median Landscaping Improvements Phase I (from HEFT to NW 97th Avenue) was advertised for solicitation and the construction was completed in December 2019; and

WHEREAS, on August 9, 2017, Work Order #5 was issued to Keith and Schnars, P.A for professional design services and the development of construction plans for the landscape improvements within Doral Boulevard median from NW 97th Avenue to the Palmetto Expressway Interchange for a not to exceed amount of \$123,344.81; and

WHEREAS, ITB No. 2022-05 Doral Boulevard Median Landscaping Improvements Phase II was issued on February 28, 2022, and advertised on the City's Website, Vendor Registry and on DemandStar; and

WHEREAS, in response to ITB No. 2022-05 – "Eleven (11) people representing ten (10) firms attended the pre-bid meeting that was held on March 10, 2022; and

WHEREAS, three (3) submittals were received and opened on March 29, 2022, with all the firms meeting the minimum required criteria set forth in the ITB; and

WHEREAS, Superior Landscaping & Lawn Service Inc. was deemed the lowest responsive, responsible bidder; and

WHEREAS, staff respectfully requests that the Mayor and City Councilmembers authorize the award of ITB No. 2022-05 – "Doral Boulevard Median Landscaping Improvements Phase II" to Superior Landscaping & Lawn Service Inc. in an amount not to exceed of \$2,075,404.68, which includes a 10% contingency for any unforeseen conditions, a copy of which is attached as Exhibit "A"; and WHEREAS, in addition, the PWD respectfully request approval from the Mayor and the City Councilmembers to authorize the City Manager to transfer \$580,404.68 from Account No. 001.80005.500633 to Account No. 001.80005.500631 to provide sufficient funding for this effort; and

WHEREAS, funding for the construction of Doral Boulevard Median Landscaping Improvements Phase II is available in the Transportation Fund Improvement Streets Account, Account No. 101.80005.500631.

NOW THEREFORE, BE IT RESOLVED BY THE MAYOR AND THE CITY COUNCIL OF THE CITY OF DORAL AS FOLLOWS:

Section 1. Recitals. The above recitals are true and correct and incorporated herein.

<u>Section 2.</u> <u>Approval</u>. The contract between the City of Doral and Superior Landscaping & Lawn Service Inc. for the Doral Boulevard Median Landscaping Improvements Phase II with an amount not to exceed \$2,075,404.68, which includes a 10% contingency for any unforeseen conditions, is approved as to form and legality by the City Attorney, is hereby approved.

<u>Section 3.</u> <u>Authorization.</u> The City Manager is authorized to negotiate and execute a Contract Agreement and expend budgeted funds on behalf of the City in furtherance hereof.

Section 4. Implementation. The City Manager and the City Attorney are hereby authorized to take such further action as may be necessary to implement the purpose and the provisions of this Resolution.

Reso. No. 22-72 Page **4** of **4**

<u>Section 5.</u> <u>Effective Date</u>. This Resolution shall take effect immediately upon adoption.

The foregoing Resolution was offered by Councilmember Mariaca who moved its adoption.

The motion was seconded by Councilmember Puig-Corve and upon being put to a vote, the

vote was as follows:

Mayor Juan Carlos Bermudez Vice Mayor Digna Cabral Councilman Pete Cabrera Councilwoman Claudia Mariaca Councilman Oscar Puig-Corve Yes Not Present at time of Vote Yes Yes

PASSED AND ADOPTED this 11 day of May, 2022.

JUAN CARLOS BERMUDEZ, MAYOR

ATTEST:

CONNIE DIAZ, MMC **CITY CLERK**

APPROVED AS TO FORM AND LEGAL SUFFICIENCY FOR THE USE AND RELIANCE OF THE CITY OF DORAL ONLY:

LUIS FIGUEREDO, ESQ. CITY ATTORNEY

EXHIBIT "A"



Bid Tabulation Sheet

Bid Number	ITB No. 2022-05
Bid Name	Doral Boulevard Median Landscaping Improvements
Bid Due Date	3/29/2022 0:00
Bid Opening	Closed

Company	Responded	Address	Bid Amount	Documents	Sent
Arazoza Brothers Corp	Brothers Corp. 3/29/2022 7027 S		¢ 7 E 4 9 E 4 9 9 6	Supplier Solication Response	v
Alazoza Biothers corp	9:30:00 AM	Florida 33173	\$ 2,546,546.60	Supplier Solication Response	T
Superior Landscaping & Lawn	3/29/2022	PO Box 35-0095, Miami, FL,	61 00C 701 F0	Supplier Colication Decrements	v
Service, Inc.	9:55:00 AM	33135	\$1,886,731.53	Supplier Solication Response	r
VisualScape Inc.	3/29/2022	17801 NW 137 Avenue, Miami,	\$2,416,262.70	Supplier Solication Response	v
visualscape life.	6:46:00 AM	FL, 33018	\$2,410,202.70	Supplier Sofication Response	I

Preparer's Name:	Tanya Donigan
Preparer's Signature:	Tanya Donigan
Date Prepared:	4/5/2022

ITB No. 2022-05 Doral Boulevard Median Landscaping Improvements Phase II

Bid Tally Sheet

				Superior Landscaping & Lawn Service Inc.				Arazoza B	rs Corp.	VisualScape Inc.				
ltem	Description	Unit	Qty.	Unit Price		Cost	(Unit Price		Cost	U	nit Price	199	Cost
101-1	MOBILIZATION	LS	1	\$ 29,500.00	\$	29,500.00	\$	175,000.00	\$	175,000.00	\$	199,261.30	\$	199,261.30
102-1	MAINTENANCE OF TRAFFIC	LS	1	\$ 18,085.00	\$	18,085.00	\$	90,000.00	\$	90,000.00	\$	70,870.00	\$	70,870.00
580-2	BULNESIA ARBOREA	EA	5	\$ 650.00	\$	3,250.00	\$	750.00	\$	3,750.00	\$	759.00	\$	3,795.00
580-2	CHAMAEROPS HUMILIS	EA	10	\$ 370.00	\$	3,700.00	\$	500.00	\$	5,000.00	\$	609.00	\$	6,090.00
580-2	JATROPHA INTEGERRIMA	EA	40	\$ 385.00	\$	15,400.00	\$	300.00	\$	12,000.00	\$	784.00	\$	31,360.00
580-2	LIGUSTRUM JAPONICUM	EA	23	\$ 965.00	\$	22,195.00	\$	800.00	\$	18,400.00	\$	959.00	\$	22,057.00
580-2	LAGERSTROEMIA SPECIOSA	EA	28	\$ 965.00	\$	27,020.00	\$	750.00	\$	21,000.00	\$	1,059.00	\$	29,652.00
580-2	MAGNOLIA GRANDIFLORA 'LITTLE GEM'	EA	8	\$ 965.00	\$	7,720.00	\$	500.00	\$	4,000.00	\$	1,059.00	\$	8,472.00
580-2	PTYCHOSPERMA ELEGANS (16FT)	EA	57	\$ 855.00	\$	48,735.00	\$	850.00	\$	48,450.00	\$	929.00	\$	52,953.00
580-2	PTYCHOSPERMA ELEGANS (13FT)	EA	11	\$ 790.00	\$	8,690.00	\$	750.00	\$	8,250.00	\$	859.00	\$	9,449.00
580-2	PTYCHOSPERMA ELEGANS (10FT)	EA	13	\$ 725.00	\$	9,425.00	\$	650.00	\$	8,450.00	\$	859.00	\$	11,167.00
580-2	PHOENIX SYLVESTRIS	EA	2	\$ 1,800.00	\$	3,600.00	\$	1,000.00	\$	2,000.00	\$		\$	-
580-2	QUERCUS VIRGINIANA	EA	3	\$ 2,150.00	\$	6,450.00	\$	1,800.00	\$	5,400.00	\$	2,159.00	\$	6,477.00
580-2	ROYSTONEA REGIA	EA	17	\$ 1,400.00	\$	23,800.00	\$	1,000.00	\$	17,000.00	\$	-	\$	3 - 17
580-2	VEITCHIA MONTGOMERYANA (10FT)	EA	5	\$ 580.00	\$	2,900.00	\$	600.00	\$	3,000.00	\$	859.00	\$	4,295.00
580-2	VEITCHIA MONTGOMERYANA	EA	3	\$ 465.00	\$	1,395.00	\$	1,000.00	\$	3,000.00	\$	-	\$	-
580-1	CRINUM AUGUSTUM 'QUEEN EMMA'	EA	67	\$ 125.00	\$	8,375.00	\$	45.00	\$	3,015.00	\$	90.65	\$	6,073.55
580-1	CALLISTEMON CITRINUS 'LITTLE JOHN'	EA	53	\$ 34.00	\$	1,802.00	\$	27.00	\$	1,431.00	\$	15.65	\$	829.45
580-1	CORDYLINE FRUTICOSA 'BLACK MAGIC'	EA	99	\$ 75.00	\$	7,425.00	\$	45.00	\$	4,455.00	\$	45.65	\$	4,519.35
580-1	CLUSIA FLUMINENSIS (FKA 'NANA')	EA	2416	\$ 14.00	\$	33,824.00	\$	15.00	\$	36,240.00	\$	11.65	\$	28,146.40
580-1	CHRYSOBALANUS ICACO 'HORIZONTALIS'	EA	1158	\$ 24.00	\$	27,792.00	\$	25.00	\$	28,950.00	\$	19.65	\$	22,754.70

580-1	CONOCARPUS ERECTUS 'SERICEUS'	EA	80	\$ 12.00	\$ 960.00	\$ 16.00	\$ 1,280.00	\$ 12.65	\$ 1,012.00
580-1	FICUS MICROCARPA 'GREEN ISLAND'	EA	703	\$ 12.00	\$ 8,436.00	\$ 14.00	\$ 9,842.00	\$ 10.65	\$ 7,486.95
580-1	ILEX VOMITORIA 'STOKES DWARF'	EA	639	\$ 14.00	\$ 8,946.00	\$ 16.50	\$ 10,543.50	\$ 11.65	\$ 7,444.35
580-1	IXORA X 'PETITE TAIWAN-RED'	EA	950	\$ 14.00	\$ 13,300.00	\$ 13.50	\$ 12,825.00	\$ 10.65	\$ 10,117.50
580-1	SCHEFFLERA ARBORICOLA 'TRINETTE'	EA	1146	\$ 12.00	\$ 13,752.00	\$ 13.50	\$ 15,471.00	\$ 10.65	\$ 12,204.90
580-1	ARACHIS GLABRATA	EA	2350	\$ 3.75	\$ 8,812.50	\$ 9.50	\$ 22,325.00	\$ 5.15	\$ 12,102.50
580-1	EVOLVULUS GLOMERATUS	EA	1590	\$ 4.95	\$ 7,870.50	\$ 9.50	\$ 15,105.00	\$ 5.15	\$ 8,188.50
580-1	IMPATIENS HAWKERI	EA	1308	\$ 7.50	\$ 9,810.00	\$ 9.50	\$ 12,426.00	\$ 5.15	\$ 6,736.20
580-1	JUNIPERUS CONFERTA `BLUE PACIFIC'	EA	3379	\$ 15.00	\$ 50,685.00	\$ 9.50	\$ 32,100.50	\$ 6.65	\$ 22,470.35
570-1-2	STENOTAPHRUM SECUNDATUM 'PALMETTO'	SF	11,137	\$ 0.89	\$ 9,911.93	\$ 0.80	\$ 8,909.60	\$ 1.80	\$ 20,046.60
590-70	HOOVER PUMP STATION MODEL HCF-7.5CSV-480/3-D,E-50,W,Z - INCLUDES CONTROLLER	EA	2	\$ 34,200.00	\$ 68,400.00	\$ 45,000.00	\$ 90,000.00	\$ 29,589.30	\$ 59,178.60
590-70	HOOVER PUMP STATION MODEL HCF-7.5CSV-230/1-D,E-50,W,Z - INCLUDES CONTROLLER	EA	1	\$ 36,000.00	\$ 36,000.00	\$ 40,000.00	\$ 40,000.00	\$ 36,008.00	\$ 36,008.00
590-70	WELL PIPE / 4 INCH OPEN ENDED, GALVANIZED STEEL, 80 FT DEPTH ESTIMATED	EA	3	\$ 8,400.00	\$ 25,200.00	\$ 6,000.00	\$ 18,000.00	\$ 11,250.00	\$ 33,750.00
590-70	ZONE CONTROL VALVE / RAIN BIRD PESB (SIZE PER PLANS)	EA	29	\$ 420.00	\$ 12,180.00	\$ 800.00	\$ 23,200.00	\$ 650.00	\$ 18,850.00
590-70	ZONE GATE VALVE / LEEMCO LV-220	EA	29	\$ 360.00	\$ 10,440.00	\$ 300.00	\$ 8,700.00	\$ 350.00	\$ 10,150.00
590-70	THREADED NIPPLES / PVC SCHEDULE 80 (INSTALL NO MALE ADAPTERS)	EA	95	\$ 18.00	\$ 1,710.00	\$ 7.00	\$ 665.00	\$ 15.00	\$ 1,425.00
590-70	MAINLINE / 4 INCH HDPE DR 13.5 (PS 9NOT INCLUDING DIRECTIONAL BORES)	ŀ	3,855	\$ 15.60	\$ 60,138.00	\$ 16.00	\$ 61,680.00	\$ 13.95	\$ 53,777.25
590-70	MAINLINE / 4 INCH PVC CLASS 200	LF	100	\$ 10.80	\$ 1,080.00	\$ 10.00	\$ 1,000.00	\$ 15.00	\$ 1,500.00
590-70	MAINUNE / 3 INCH PVC SCH 40	LF	50	\$ 9.60	\$ 480.00	\$ 8.00	\$ 400.00	\$ 20.00	\$ 1,000.00
590-70	MAINLINE / 2 INCH PVC SCH 40	ŀ	125	\$ 8.40	\$ 1,050.00	\$ 8.00	\$ 1,000.00	\$ 20.00	\$ 2,500.00
590-70	MAINLINE SERVICE TEE / HDPE DR 11 FUSIBLE; AT VALVES, USE 4 INCH ELECTROFUSION SADDLE WITH 2 INCH BRASS FPT OUTLET	EA	33	\$ 180.00	\$ 5,940.00	\$ 500.00	\$ 16,500.00	\$ 950.00	\$ 31,350.00
590-70	2 INCH DETECTABLE MARKING TAPE OVER MAINLINE, 12 IN BELOW GRADE	ŀ	4130	\$ 1.80	\$ 7,434.00	\$ 0.25	\$ 1,032.50	\$ 0.50	\$ 2,065.00
590-70	MAINLINE ISOLATION VALVE / AVK SERIES 85 BALL VALVE WITH FUSIBLE DR11 IPS HDPE ENDS	EA	8	\$ 2,040.00	\$ 16,320.00	\$ 1,600.00	\$ 12,800.00	\$ 1,250.00	\$ 10,000.00
590-70	AIR/VACUUM RELEASE VALVE / BERMAD C10 COMBINATION AIR AND VACUUM RELEASE WITH TEST POINT - MODEL IR-2-C10-P-D- NMT	EA	4	\$ 1,080.00	\$ 4,320.00	\$ 1,500.00	\$ 6,000.00	\$ 1,550.00	\$ 6,200.00
590-70	VALVE BOX / OLD CASTLE TIER 8 RATED FIBRELYTE FL30, 15 X 24 X 12 INCH DEEP	EA	41	\$ 240.00	\$ 9,840.00	\$ 500.00	\$ 20,500.00	\$ 400.00	\$ 16,400.00
590-70	PULL BOX / OLD CASTLE TIER B RATED FIBRELYTE FL30, 15 X 24 X 12 INCH DEEP	EA	10	\$ 240.00	\$ 2,400.00	\$ 500.00	\$ 5,000.00	\$ 400.00	\$ 4,000.00
590-70	VALVE BOX IDENTIFICATION / ALUMINUM NUMBERS / LETTERS	EA	93	\$ 6.00	\$ 558.00	\$ 150.00	\$ 13,950.00	\$ 65.00	\$ 6,045.00

		r							1		1	1	1
590-70	#57 ROCK / BELOW VALVE BOXES PER DETAIL	CF	191	\$	6.00	\$	1,146.00	\$ 150.00	\$	28,650.00	\$	20.00	\$ 3,820.00
590-70	FILTER FABRIC / BELOW VALVE BOXES PER DETAIL	SF	408	\$	6.00	\$	2,448.00	\$ 1.00	\$	408.00	\$	2.00	\$ 816.00
590-70	CONTROL WIRE CONDUIT / 2 INCH HDPE RED STRIPE (NOT INCLUDING DIRECTIONAL DRILL)	ĿF	4130	\$	7.20	\$	29,736.00	\$ 7.00	\$	28,910.00	\$	4.50	\$ 18,585.00
590-70	CONTROL WIRE / SOLID COPPER, TYPE UF-83 TH:N/THWN INSTALL 14 AWG RED FOR HOT WIRES, INSTALL 14 AWG BLUE FOR SPARES, INSTALL 14 AWG WHITE FOR THE COMMON/ COMMON SPARE FOR POC 2/3 SYSTEMS	ម	43500	\$	0.48	\$	20,880.00	\$ 0.50	\$	21,750.00	\$	0.30	\$ 13,050.00
590-70	CONTROL WIRE / SOLID COPPER, TYPE UF-83 THHN/THWN INSTALL 12 AWG WHITE FOR THE COMMON/ COMMON SPARE FOR POC 1 SYSTEMS	ĿF	7600	\$	0.55	\$	4,180.00	\$ 0.75	\$	5,700.00	\$	0.30	\$ 2,280.00
590-70	CONTROL WIRE CONNECTORS / 3M DBY/R-6	EA	116	\$	3.60	\$	417.60	\$ 2.50	\$	290.00	\$	5.00	\$ 580.00
590-70	LATERAL LINE / 3/4 INCH MINIMUM TO 3 INCH PVC SCHEDULE 40 WITH PVC SCHEDULE 40 SOLVENT WELD FITTINGS	ŀF	17650	\$	0.30	\$	5,295.00	\$ 3.00	\$	52,950.00	\$	3.75	\$ 66,187.50
590-70	DIRECTIONAL BORES / 4 INCH HDPE DR 13.5 IPS	UF	2470	\$	45.60	\$	112,632.00	\$ 31.25	\$	77,187.50	\$	37.85	\$ 93,489.50
590-70	DIRECTIONAL BORE / 3 INCH HDPE DR 13.5 IPS	ŀ	1100	\$	31.20	\$	34,320.00	\$ 27.50	\$	30,250.00	\$	30.85	\$ 33,935.00
590-70	DIRECTIONAL BORE / 2 INCH HDPE DR 13.5 IPS	ŀ	5465	\$	26.40	\$	144,276.00	\$ 22.50	\$ 1	122,962.50	\$	26.65	\$ 145,642.25
590-70	SPRAY HEADS / RAIN BIRD 1806-PRS WITH MPR NOZZLES	EA	322	\$	45.60	\$	14,683.20	\$ 30.00	\$	9,660.00	\$	25.00	\$ 8,050.00
590-70	SPRAY HEADS / RAIN BIRD 1812-PRS WITH MPR NOZZLES	EA	421	\$	45.60	\$	19,197.60	\$ 35.00	\$	14,735.00	\$	32.00	\$ 13,472.00
590-70	SPRAY HEADS / RAIN BIRD 1812-PRS WITH MPR NOZZLES ON RISER ASSEMBLY	EA	62	\$	45.60	\$	2,827.20	\$ 42.00	\$	2,604.00	\$	45.00	\$ 2,790.00
590-70	STAINLESS STEEL ZIP TIES / FOR RISER ASSEMBLY	EA	124	\$	24.00	\$	2,976.00	\$ 1.50	\$	186.00	\$	3.50	\$ 434.00
590-70	BUBBLERS / RAINBIRD 1400 SERIES PRESSURE COMPENSATING ON POLY PIPE, 0.25 GPM	EA	221	\$	48.00	\$	10,608.00	\$ 20.00	\$	4,420.00	\$	18.00	\$ 3,978.00
590-70	BUBBLERS / RAINBIRD 1400 SERIES PRESSURE COMPENSATING ON POLY PIPE, 0.50 GPM	EA	44	\$	48.00	\$	2,112.00	\$ 20.00	\$	880.00	\$	18.00	\$ 792.00
715-7-77	SERVICE POINT ENCLOSURE COMPLETE	EA	2	\$	15,000.00	\$	30,000.00	\$ 34,184.00	\$	68,368.00	\$	32,746.25	\$ 65,492.50
715-11-7	LANDSCAPE LIGHTING (TYPE A)	EA	74	\$	700.00	\$	51,800.00	\$ 3,492.63	\$2	258,454.62	\$	3,320.00	\$ 245,680.00
715-11-7	LANDSCAPE LIGHTING (TYPE B)	EA	20	\$	700.00	\$	14,000.00	\$ 3,492.63	\$	69,852.60	\$	3,320.00	\$ 66,400.00
630-2-11	1" PVC CONDUIT	lf	5800	\$	8.00	\$	46,400.00	\$ 7.50	\$	43,500.00	\$	15.00	\$ 87,000.00
630-2-11	2" PVC CONDUIT	ŀF	6400	\$	30.00	\$	192,000.00	\$ 31.63	\$ 2	202,432.00	\$	17.50	\$ 112,000.00
715-1-12	#8 CU WIRING	ŀ	300	\$	3.60	\$	1,080.00	\$ 3.38	\$	1,014.00	\$	2.50	\$ 750.00
715-1-12	#5 CU WIRING	ŀ	46000	\$	3.90	\$	179,400.00	\$ 4.40	\$ 2	202,400.00	\$	3.15	\$ 144,900.00
715-1-13	#4 CU WIRING	ŀF	2000	\$	5.16	\$	10,320.00	\$ 4.75	\$	9,500.00	\$	5.40	\$ 10,800.00
715-1-13	N2 CU WIRING	LF	8000	\$	5.60	\$	44,800.00	\$ 6.25	\$	50,000.00	\$	6.90	\$ 55,200.00
635-2-11	PULL BOX	EA	33	\$	800.00	\$	26,400.00	\$ 1,323.88	\$	43,688.04	\$	1,247.50	\$ 41,167.50
Z999-1	GFI RECEPTACLE POST WITH TRANSFORMER	EA	28	\$	2,600.00	\$	72,800.00	\$ 3,522.75	\$	98,637.00	\$	3,262.50	\$ 91,350.00
				·		-					-		

715-MISC	MISCELLANEOUS	LS	1	\$	5,000.00	\$	5,000.00	\$ 11,513.50	\$ 11,513.50	\$ 12,500.00	\$	12,500.00
580-MAINT	ESTABLISHMENT PERIOD MONTHLY MAINTENANCE; AFTER PROJECT ACCEPTANCE DATE (22 PER MONTH)	EA	12	\$	5,250.00	\$	63,000.00	\$ 7,500.00	\$ 90,000.00	\$ 9,520.00	\$	114,240.00
580-9-1	LANDSCAPE-PALM COMPLETE REMOVAL, LESS THAN 14' OF CLEAR TRUNK	EA	8	\$	410.00	\$	3,280.00	\$ 500.00	\$ 4,000.00	\$ 200.00	\$	1,600.00
580- 9 -2	LANDSCAPE-PALM COMPLETE REMOVAL, 14' AND GREATER OF CLEAR TRUNK	EA	13	\$	610.00	\$	7,930.00	\$ 700.00	\$ 9,100.00	\$ 427.00	\$	5,551.00
581-1-2	RELOCATE TRESS AND PALMS, PALM,> =14' OF CLEAR TRUNK	EA	22	\$	965.00	\$	21,230.00	\$ 1,000.00	\$ 22,000.00	\$ 1,500.00	\$	33,000.00
580-9-31	LANDSCAPE-STUMP REMOVAL 4 -24"	EA	5	\$	500.00	\$	2,500.00	\$ 500.00	\$ 2,500.00	\$ 100.00	\$	500.00
							1,886,731.53	Total	\$ 2,548,548.86	Total	\$ 2	,416,262.70

.